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-----~---·-, a) On June 12, 2013 the company received a check for the balance due from Cri!'PY 
C~/ . Company, assuming tl~ gro~ methoc~ is used. 
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. ., 
Required 
Prepare the necessary entries for ~mond C_9p1pany,..under the following independent 
assumptions 

Question 1 (9 points) . 
On Jun'% 3, 2013 Almond Company sold to Crispy Company merchandise having a sale price of 
$],,.0.£0 with terms of 2/10,n/30, F.0.B. shjpping_point. An invoice totaling $90, terms n/30, was 
received by Crispy on June 8 from Al-Petra Transport Service for the freight cost. On June 12, 
the company received a_ check for the balance from Crispy Company . 
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Required: 
Determine the present value of the pension liability 

------ r---- ----~----~-.,.--- 
. '.fable Factors For# Pe~i_o_d_s__,®=---1_0_%_~+---F_o~JO periods For 15 periods 

Future Value of 1 17.44940 4.17725 
Present Value of 1 , ._0_5_731 I -(.1:1_2:W:) 

Buturevaiue of Ordinary Ai.1illiitYOfi- ~~~-2-~=+--3b7j4s 
Present Value of Ordi_nm:y Annuit:.y-Gf. 9.42691 -7 . .6.06D8 ) I 
Present Value of Annuity Due of 1 10.36961 8.36669 -~ 

The interest rate to be used is 10% · 
The following interest factors are provided: 

I Average kr!gth_Q.f tiI!_~.:..!()__retiremeFB_t_______ J 15 Years r ...' _ Expected Hfe du:rati(!n after rctirem~~-------+---l_S_Y_e_a_r_s----l 
I ~- 
I 

Total pension paym.rnt expected each year after r,etiE,ement for an empft.oyees ; $600,0qQ) 
per year· 

L "Payment :ma~e at the eij.d of the year. " __ .L.,, ___, 

'i-hA-T 

~ 
~~ -------l"7(; ~ 

~n°t t.s 
'2011.. 

----- .. ......-..... 
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Question 2 (8 points) C) 
Palestine Mortgage Real Estate Company with 30 e~_ecided to initiate a pension plan as 
a part of its compensation plan. The plan 'Nill start on January 1,201~. Each employee covered 
by the plan is entitled to a pension payment each year af~r retirement. As required by 
accounting standards, the controller of the company needs to report the pension liability. On the 
basis of a discussion with the supervisor of ihe Personnel Department and an actuary from an 
insurance company, the controller develops the following related to the pension plan, 
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(b) Prepare the entry to record interest revenue at_the·en_9_qij:l!e secon<!_ye~n- (December 31, 
2013),using the cffe<;.ti~ jnterest method. (4 points) ·7 
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In January 1, 2012 Sahem Development Compa y sold and having a cash sale price _Qf. $200,000 
to Rarnallah Health Spa, Inc. Sahem Developme: f accepted in exchange a~-year ]laving a 111"\-:: 5 
maturity value of _~291.~nd no ~tated interest rate. The market rate of interest for a note of 
similar risk is 8 percent. The land originally cost Sahern $150,000. 

y -s 'Yeef UiS(o1A \i\r b;i 9] I?~, 
Reguire!! , 
(a) Prepare the entry for the sale of the land on Sahem Company's books. (8 points) 
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Q1lltes~fon 3 (12 points) 



I~ __ ,,\., __ .. -· 5 Cash Surrender va ue 1 l 

(6) Accumulated De12reciati 

~ 

(7) 3 for 1 Stoc~ split. ? 
; 

' (8) Dividends in arrears· <1 -. 1 

- Cl (9) Bonds payab~_(Due i·L" 

( C.-\) ClO} Unamortized Discount 
1)· c --1-LL. (11) Wasting,JSSQurces-Oil r 

D (12) CopY'.:1:~g~'.t_s. 

----------·---·----, 
I 
! Hems Cod~ LeHe!i::__J 

I A I (1) Prepaid Insurance. A ! 
~· ~--- -_. -r---__,,(2-') Cash Dividend_s_P_a_y~a_b_l_e.---~---------------:=1 

,__1 ---''~--+---(_3) Budgeted office s~pplies for·_ n_e=x=t=y-e_-(l_J-._-~-~--(J·===X==~~~~------· -----~ 
I 1{ rµ) (4) Defl_s:_it.'} Lf~)___________ ·--J 

13 1 
( ) "' fu rd of life insurance. :Ll·V.,~.5~@t11 t ~ I 

on,IJ£~) ~- ~ 
nreferrcd stock. J.,/ ------'--------~ 

~~~ble (Q~Ers). ( C_2 __ _1 
/" I eserves. L- I 

__ _a_ ---~--J 

Indicate by using code letter how each of the following usually should be classified. If a contra 
account, or any amount that is negative or opposite the normal balan~, put pare~.L 
around the letter selected. If an item should appear in a note to the financial statements, use the 
letter~ indicate this fact. If an item need not be reported at all on the balance sheet, use the 
Jetter "X". 

Required: 

~alance Sheet Headings Code Letter 
Current assets. A 

_Long-term investments. B· 

Property, plant, and equipment. 

__ I 
c: 

Int~ngible assets. D· 
Other assets. K ~· -- ; 

Current liabilities. i F· ···---·---- 

Long-term liabilities. r . G --·-- 

Capital stock. Bl ·---- 
Paid-in-capital in excess of par. ·1 

·- 
_Retained earnings ' J 

Question 4 (6 points) 

Wassel Enterprise uses the following headings on its balance sheet. 

/ 
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.~/hat is Keisler's beginning cash balance" 
~';<1'7n nQQ b) 0'3-0Q.Q()Q- c) $1 '0 (II•(\ r;'-f~1 none 01' 1110 "'DO''P 'lJ..)-D • 'V)'--1 • ..p ' ...._ , j ..L.J 'V'' . "Jo ~.v J..lV.!. -'... " ~'·'" (J. V -'• 

Cash provided by operating activities 
Cash used by investing activities 
Cash provided by financing activities 
Ending cash balance 

4. Keisler Corporation reports: 

Sr1 t.l? 
o~ -f)f5 

Fulton. will report investments .in its current _assets section of 
a) $0. 
b.\ 1 '"60 000 ~ ·· c'' · ~ti . .,,,· i,,\,..,\_,, .. '-1--. exact y :ti ., . '1~5\f1i\r:::,v-. " ·~, .... , ·~·'""- .... 

@)$60,000 or an amount greater than $60,000, depending on the circumstances. 
cl) exactly $95,000. 

· H'"''"""' c.:1'1..;";1 h-.CIC>ll.-V 
3. In preparing a statement of cash flows, sal~_of t_I§a~:ury ~tock aLillisunount greater 

th.M..m~t_:,yop.l<l be classified as a(n) · · - oy.~·1£\. ,:}t. 
operating activity. c:) operating and investing. 
financing activitv. ·r<n) operating and financing. . ~- ./ .. ~ ~--- --~ "-.._.........- 5 C\ .·i-. 5~ 1-e 

$60,000 
35,000 
47,000 

~ , l. One criticism ~on~~;~ aimed at a balance sheet prepared using current 
. 1.-. j ds i ' accounnng.anc repo!J.1..Ilg_§J.£l~' ai ~s 

a) failure to reflect current value information.c.e" . .\J.iSfi::>lr\~\ CC,-;(- 
A /(,§j) the extensive use of separate classificationsze, 
~ V \ c) an extensive use of estimates. W"' 

() ~ failure to include items of fi~cial 1.·1lue that cannot be recorded objectively. 

2. Fulton Company owns the following investments: 

PART2 
Multiple Choke Questions (15 ,P-Ointfil. 
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8. Consider the following: Cash in Bank - checking account of W,500,_ Cash on hand i.- 
of $2,0Q. Post-dated checks received tot.~i!}g-::$~,500, and Certificates of deposit ~~1> § h.cH-t!.l'W., 
totaling $124,0 n ~Tow much should be reported a(cash .Di the balance sheet? j),,....,.'2'Sf'°''%ir~ 
a) $ 13,500. b) ·~ 14,000. c) $ 17,SUL d) $13T,sUO. 

'\. 

/ 
0.4632 
0.3855 
6.7101 
6.1446 

Present value of 1 at 8% for 10 periods 
Present value of J:Jtt 10% for 10 periods 
Present value of an ordinary annuity at 8% for 10 periods 
Present value of an ordinary annuity at 10% forIf periods 
a) $2,000,000 @1,754~136 . c) $2,000,012 d) $2,212,052 

6. Jenks Company financed the purchase of a machine by making payments of $18,000 'PM\·~ \ go·f9o 
q tJ0A-::: \ io oa atthe end of each.otiive ye_ars. ]'he agp~J:?X.ifl~ate of interest was 8%. The futuresi<i'J't" 

~ value of one for five periods at 8% is 1.46933. The future value of an ordinary .::- ....... 
<, .~<jJ;l·annuity for five perio ,., 0 o is 5.86j6. 1,'he preseu.t valw;..ef m.1 01dffi:ili'-J'-MUlllicy .. .for 

five ·Jcriods at 8% i· i3.9927 .. What~§,Jhe c_ost of the. machine to Jenks? G}-.--;v\ 
.> a) $26,448 . 71,869 c) $90,000 d) $105,600 V'-' {)' -i~ 0-.,.,,,,\-~-- 

~ · t 8{;~0 i l-="' I i@.j \ &-"n 

7. On JanuaryZ, 2010, Wine Corporation wishes to issue $2,000,000 (par value) of its 
s~'1~ 8%, 10..:year bonds. The bonds pa.y interest annually on Jangaa l. The currentJi£Js1 €'\:'t=:;~~ve. 

rate on such bonds is 10%. Using tl.e interest factors below, compute the amount that 
\Vine will r~alize fro~~e (iss~_ance) of the bonds_.· ~V -t- ? U r:JA 

5. Which of the following statements about iGA.AP and US. GAAP accounting and 
reporting requirements for the balance sheet is .. JJot cmrect? 
a) The presentation formats required by iGAJ\..P and U.S. GAAP for the balance 

sheet are similar. v-- eJ,@ One difference between the reportin; ~requirements under iGAAP and thos.~f 
U.S. GAAP balance sheet is that an 'GAAP balance sheet may listl.o_ng~~errn f 
assets first _._ . · <, 

Both iGAA.P and U.S. GAAP requir. that property, plant and equipment be 
reported at historical cost on the balance sheet.>" 

d) Both iGAAP and U.S. GAAP require that comparative information be reported. 

~ ~ ---·· 
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12. Moon Inc assigns $~,SOO,O..Q_Q_g£its accounts receivables as collateral f~Q.Lil-~) 

million loan with abank, The bank assesses a]Jo fii.lfillc.e fee and charges interest on 
... .J:he note ~· What would be the journal entry to· record this transaction? .. , 

(0,,a)JIJeblt Cash for $970,0Q_Q.,.-debit Finance Charge for $J{.."l000, and credit 1·4.I.)):('s 
~ payable for $1,000,00Q....---- "' 
J!!!f)) Debi~ Cash for $970,000, debit Finance Charge for $30,~00, and credit fl;~JJJ11:S 
'=·~..-! Receivable for $1,000,000. · 

c) Debit Cash for $970,000, debit Finance Charge for $30,000, debit D~rom 
Bank for $500,000, and credit Accounts Receivable for $1,500,000. \ 

cl) Debit Cash for $910,000, debit Finance ChargeJ.or $90,000, and credit Notes 
Payable .for $1,000,000. . c .. \ 

C- . "'' ·: .• ,,,. <:76 - ,~.,. _,_,'$ 1,.., .q.-'S"S-.i5b ''"' l;>7 !:~~--'°' .. 
\.{\rll:t\i'..Y2. c h,.~D-"" t' < "1 (;:; <fV}F• ,-.. \ '\. \i ~:. '='\>\~~~·.!) ........... ""~ !~,~~~ ~ 

c) 0a1< of d'"60 ono ) v ( u u ~) .J ' 11Jl . 

d) Loss of $100,000 . 

10. At the dose of its first year of operations, December 31, 2010, Ming Company had 
_ accounts receivable of $;)4Q..Q.OO, after dedll£ting the related allowance for doubtful 

~{~ )LFt~couri.ts. During 2010, the company had charges to bad debt expense of $90,000 'Ee,,dPebi- c10 
and wrote off, as uncollectible, accounts receivable of $40,000. What should the ~l!.:i'-', ,,...('i:l c ~--l(j ~_...,____ company report on its balance sheet at December 31, 2010, as accounts receivable "'v- Qr::. 

S0i-.~ \(';o before the allowance for _gpubtfu+ accounts? • Atto"'";... ~v-~ 
\ n··, $670,0'JO Iii\ $590. 000 $490,000 d) $ :-40,000 ~-'t-~ : ,.. 
l ~ 04\ ~. :>( • ~ ~'1~~ 

__ t "'l• 11. Sun Inc. factors $2,000,000 of its accounts receivables with recourse for a finance · c~;rq;. c · \; · ··-:o oo<.:>· o. _ -..!!. 
t,:0f;, ( 6 e ~,,,0 char~e of 3%. The ~inane~ company retains "" amount e~ual to 10% of the accounts I So 
<i)iAe ~·~ 2;,e .,,.,~ receivable for possible adjustments. Sun estnnates thefair value of the recourse 

liability at $10Q,D.OO. What would be recorded as a gain (loss) on the transfer of 
.., .,() ".l~,=>o<-~- . bl .­ 
,~1 '" ....,.;e;:."""'tece1va es! 

\e;fl '200 ~ Gain of $60,000. 
(b)) Loss of 160.000. ..... ,,/ . 

Data per bank for the month of April 2010 follow: 
D~~~ . 
Disbursements 

47,500 
12,600 

$34.900 
Less: Outstandinz c eeks 
Balanc per books, 3/31/10 

-~ 9. Tresh, Inc. had the following bank reconciliation at March 31~ 2010: 

Balance per bank statement, 3/31/10 
Add: Deposit in transit 

-~ FVR 
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